
B-Baum

20| | | 

6|12| | 24|35| | 

1|2|3| 7|8|| 14|15|| 21|22|| 26|28|30| …

Lösche die Elemente: 30, 3



B-Baum

Lösche das Element: 2

20| | | 

6|12| | 24|35| | 

1|2|| 7|8|| 14|15|| 21|22|| 26|28|| …



B-Baum

Lösche das Element: 2

20| | | 

6|12| | 24|35| | 

1||| 7|8|| 14|15|| 21|22|| 26|28|| …

Unterlauf

Ausgleichen nicht möglich.
� Zusammenfassen



B-Baum

Lösche das Element: 2

20| | | 

12|| | 24|35| | 

1|6|7|8 14|15|| 21|22|| 26|28|| …

Unterlauf

Ausgleichen nicht möglich.
� Zusammenfassen



B-Baum

|||

|||12|20|24|35

1|6|7|8 14|15|| 21|22|| 26|28|| …

Neue Wurzel


